F3 SRi=, SiX| L Hal 2 US
ES /A 0/0/x]
ks
xHxl

H
i

712 B4 U 3 S™T JIE AEL
HE, ?Hé%‘ 2 20/= EN AC-46200.
AHAE QtM, ZEIAE! PA 66 GF 35-X 2| M].

BIX| Bl AEE LFAF 2 oM, AH|IQIBIA AE 1.4305.

EM OpR2]:
718 B4 U &3 ;= Ax 2| L HY A3 &2
%H': 7-|K4AH _U_|.O|:_| _'_T'_Ec'>|

AP AE ObM, HEA

SIX| E, AEE LA & 9FM, AL

e
I TA HU L KMHE Qo £33 SHZE 3|1THE o= Uo{ 2ol &
siofr st= & ST ol LCt
HEf et 23T £0|lE AEE LIALS| O|M| LIAM S S8 23/ EEI
O|HE ZHELICH ol ¥H2 1 H EER I1HE = J&LICh 2ol S
= Halol 2HE ﬁEEﬂOﬂ S efLict
EH Y
1) HE 1™ EE

x4

H1

)
| f——
NI ¢ | 9
SW 11 ‘
y o
|
“ |
=1
& A
V 1 —_— A
~ -{—-—- —-———-—H--Jm
A ' |3
2

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com 1/2



r— = ir = al ol
F3 2=, SUX| L HA 2 U=
== g9
$3 ST, SUR| L B i US
FEHS D D1 D2 H H1 H2 H3 L L1 L2 A B P R SwW AEEF F =g
S kN FH
N
K0013.206 M6 20 M6x0,5 56 60 53 10 9 9 8 704 215 20 30 17 1,2 4 120
K0013.208 M8 20 M6x0,5 56 60 53 10 9 9 8 704 215 20 30 17 1,2 4 120
K0013.210 M10 25 M8x0,75 72 79 67 12 12 13 10 96 333 25 40 19 1,5 8 350
K0013.212 M12 32 M8x0,75 88 96 82 18 18 18 12 96 33,3 30 50 27 1,5 8 350
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



